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1| 4A238 | #AVYUHK(4A%) 5000/ x1/2 HERRR 2,500| 597,500
2 | 48278 | HE BHERR 520| 596,980
3| 5A38 | aF—# BHERE 1,850| 595,130
4 | 58298 | HYYL(5E4) 4,000/ x 1/2 WEFE® | 2000 593,130
5| 68288 | AV (6A%) 5000 x1/2 HERRR 2,500| 590,630
6 | 7A48 | HEERE EIRI (1,60088) LR 70,200 520,430
7| 7R248 | AVILR(7AS) 6,000 x 1/2 HEFRE 3,000| 517,430
8 | 8248 | VYUK (8A%) 3,000/ x1/2 BEFEE 1,500( 515,930
9 | 98168 | Yalys— ARERR 9,504| 506,426
10| 9H298 | HYYLt(9A%) 5000/ x 1/2 BEFRR 2,500| 503,926
11| 10898 | HEERSE FEIRI4 (1,60080) IR$RE 70,200| 433,726
12| 108128 ﬁg%@gﬁgg@fﬁ?(ﬁﬁm R 97,892| 335834
13 108258 | AVYHK(10A%) 5000/ x1/2 REFAEE 2,500( 333,334
14| 10A318 | #HEEFH (LBHH 10A5) BHBAR 1,887| 331,447
15| 11A278 | AVYLHK(1184) 4,000 x 1/2 HERRE 2,000 329,447
16 | 11A308 %ﬁfﬁlﬁﬁmﬂ (2BAE 1A %) BHEAR 1,887| 327,560
17| 12R258 | AVYUHK(12A4) 4,000 x 1/2 HERRR 2,000{ 325,560
18 | 12A318 | #HEEHH (LBHE 12A5) BHBAR 1,887| 323,673
19| 1A9B | HEERE ENRIK (1,700%0) EHRE 73,440 250,233
20| 1A258 | AVYHK(1A4) 4,000/ x 1/2 WEMRR | - 2000] 248233
21| 1A318 | #HEESEH (LHEHE 1A9) AHBAR 1,887 246,346
22 | 2R138 | AVIHK(2A%) 2,000 x1/2 BEFRE 1,000 245,346
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HERSH (L% 28 9)

BEHBAR
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HEERE ENRIF(1,70088)
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AV (3A%) 8,145 x1/2

REMRE
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STMMBTER (L BIHR 38 5)
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